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FRY)7 BELA—JL:1.3.4.6.7.9.10.11.13.14.16.17) HDLFR36FT By MIERE
g K 4 FiE |OUT|IN|% M| HD |NET ] K % FrE [OUT|IN|[%mA| HD |NET
1[®AB H&3B |ZXX 36| 36 72| 3.6/ 68.4 S1|Ed & 449 L | 36| 43 19 6 73
2|08 FR JvT 4| 40| 38 78| 8.4 69.6 52|*FH & ovT4| 31 42 19 6 13
3|I/mA BRI e-xu>sz| 39| 38 770 7.2 69.8 53|18 #x—EB v T4| 38 41 19 6 73
AlRE i e-xuroz | 40| 43 831 13.2| 69.8 54| =8 #A a4)L| 40 38 18| 4.8] 73.2
5o E= fit A 371 40 770 7.2 69.8 5|ER R e-xu>sz| 38| 40 78] 4.8] 73.2
6|14 —xX ftA 42| 46 88 18 70 56|=8 F aA4)L| 45 45 90| 16.8| 73.2
T|tEE  BIsE ft A 38| 42 80f 9.6] 70.4 57|F%)Il  KE# owvT | 38 40| 78| 4.8] 73.2
8|BAH #& =5 38| 36 74| 3.6/ 70.4 58|BEF  FA e-xv>oz | 49| 58 107( 33.6] 73.4
9I/hE X HA e-xuroz| 36| 38 74 3.6/ 70.4 OfER HXEBE B4 | 45 50 95| 21.6| 73.4
10|8E ®B 4L 38 36 74| 3.6/ 70.4 60|94 L EAl JvT 4| 40 43 831 9.6/ 73.4
NMyhER #3h [y T4| 36| 38 74| 3.6/ 70.4 61| LtEHF = 75454 39| 38 17( 3.6/ 73.4
12|% XA TRX 371 35 721 1.2] 70.8 62y E—B [TXX 411 42 831 9.6/ 73.4
1384 Al ILE 38| 40 78| 7.2 70.8 63|14k VD &H DwT a4 | 44] 45 89| 15.6| 73.4
143RAK  &E owT | 40 44| 84| 13.2| 70.8 64|fEA B owvwT | 46 43| 89| 15.6] 73.4
151" B |[vvyT«| 39 38 717 6 A 65|k B TRX 441 45 89| 15.6] 73.4
16| #E #xX aOA4)L| 41| 46 871 15.6/ 71.4 66|fkfR HE=X TRX 371 40 771 3.6] 73.4
17|/KTF =d# |[ffA 451 42 871 15.6] 71.4 67| =& JcHI ft A 401 42 82| 8.4 73.6
18|HE 8 ftA 36| 45 811 9.6/ 71.4 68|38k EBF TSH54| 411 M 88| 14.4] 73.6
19|FhE FRBE L& 44 43 87| 15.6] 71.4 69|Ems —H TRX 35 M 76| 2.4] 73.6
20(TF & oy Ta| 41 39 80| 8.4 71.6 10tk =i e—xuvsz| 46| 47 93] 19.2| 73.8
21|luT  F&8H Z=iHESa 42| 38 80| 8.4 71.6 Nn=# =i =5 45| 48 93] 19.2| 73.8
22| E— HAfh 411 39 80| 8.4 71.6 RIZR & e—xuzsz| 39 42 811 7.2 73.8
23[R+ #HA HAfh 42| 38 80| 8.4 71.6 BIEH = a4x)L| 39 42 811 7.2 73.8
24|ThE = HAfh 371 317 14 2.4 T71.6 14| Kt EE 7TS4H54| 46| 41 871 13.2| 73.8
25| R —3% =22 45| 46 91 19.2| 71.8 h|EE FBE oyTa| 41 401 81| 7.2 73.8
26|41 T IvT 4| 44 47 91| 19.2| 71.8 16|1BW Ak EHE 421 39 811 7.2 73.8
27| IEAT HotG6G6| 34| 38 12 0 12 77w Ead Dy T 4| 40| 47 87| 13.2[ 73.8
28|l B HAfh 43| 40 831 10.8| 72.2 18|54t XX =10 36| 39 75 1.2 73.8
9|%FH KB oy Ta| 45 38 831 10.8| 72.2 NEE = a4)L| 421 39 811 7.2 73.8
0|FA FH 2vT4| 39 38 770 4.8 72.2 80|[EMF ERE =10 42| 44 86 12 74
SMNAKR ®XK ovT 4| 34 37 | -1.21 72.2 B1|1BA =E EHE 411 391 80 6 74
NR)ET KE 4901 37 40 770 4.8 72.2 82| RZ [LE 46| 40 86 12 74
3B EH BH— IRX 411 48 89| 16.8| 72.2 83|HEE HF DyvTq| 42| 44 86 12 74
MK ER IRX 35| 36 | -1.21 72.2 84;ZH B 49 0L | 41| 39 80 6 74
35|F BF ft A 421 40 821 9.6/ 72.4 8h|#kik fEF =1 52| 46 98 24 74
6L E owT« | 41| 47| 88| 15.6| 72.4 86|k 1EZ a4 yv)L| 38 41 19 4.8 74.2
J7|fEHA {§t ft A 39| 37 16| 3.6/ 72.4 81| H— EDHA 451 52| 97| 22.8| 74.2
38|/ HEER a4 )| 44 43 87| 14.4 72.6 88|ikA  BhEK Eid4a K| 38| 41 19 4.8 74.2
I9|AxO0 K ovT4| 38 37 15 2.4 72.6 89|/ kR A =k 39| 45| 84| 9.6/ 74.4
40(f8x EE LE 421 39| 81| 8.4 72.6 0|mEH B TRX 411 43| 84 9.6 74.4
MEE = DvTa| 41 46 93( 20.4] 72.6 N|FHFKR HE=X EHE 47) 431 90 15.6| 74.4
RIEE EF a4 +)L| 40( 40 80| 7.2 72.8 9208 BE O14+JL| 46| 38| 84| 9.6/ 74.4
BHhE AR ovT4| 39 4 80| 7.2 72.8 NB/A EE v T«a | 42| 42| 84| 9.6| 74.4
UF EE E-xuvsz| 46 46 92| 19.2| 72.8 YU|ER = DvTa| 36| 42 18 3.6/ 74.4
45|85 mE 7JS454| 46| 40| 86| 13.2| 72.8 %|thE X ft A 441 451 89 14.4] 74.6
46|8K 7 4L | 36| 38 14 1.2 72.8 96|H® HEA = E 441 451 89 14.4] 74.6
ATldh )1l #8Z JovTa| 36 38 14 1.2 72.8 7|+ AE =05 42| 41 83| 8.4 74.6
8| Kig &RC ovT4| 38 36 14 1.2 72.8 8|k ETE TRX 42| 41 83| 8.4 74.6
O|FAR BE = E 39| 40 19 6 13 0MMEF Hid ft A 39| 38 170 2.4 714.6
50| s@ =%& JvT 4| 38| 41 19 6 13 100| KR =EFEF |(ervar| 42 47 89| 14.41 74.6




